
Cylinder Headbolts

Zylinderkopfschrauben

Viti Testa Cilindro

Vis de Culasse

Tornillos de culata

�ruby g�owicowe

����� ��������� ���
CATPA1201

11-3867 CATPA1201 Headbolts CVR v4.indd   1 6/5/12   11:43 AM



�„  HIGH PRODUCT SPECIFICATION, IN LINE WITH PAYEN GASKETS AND SEALS
�„  ANTI�COUNTERFEIT PACKAGING PROTECTING OUR BRAND INTEGRITY AND ASSURING YOU OF 

GENUINE PAYEN PARTS
�„  CLASS�LEADING CATALOGUE WITH WIDEST RANGE INCUDING MANY LATE MODEL APPLICATIONS

WHEN CHANGING A HEAD GASKET ALWAYS REPLACE THE HEADBOLTS

 REASONS TO CHOOSE PAYEN HEADBOLTS

COMPARATIVE BOLT LOAD CURVE
The following bolt loads have been achieved after tightening 
according to the OE procedure

CONCLUSIONS & COMMENTS
Payen bolts provide comparable loads to the OE bolts at the spe-
ci�  ed tightening levels. The competitor bolts show signi�  cantly 
lower loads which is indicative of an inferior quality speci�  cation, 
which will cause problems with the integrity and durability of the 
head gasket seal.

GETTING IT RIGHT � THE IMPORTANCE OF FITTING INSTRUCTIONS
All Payen headbolts come with �  tting instructions in the packaging as well in the catalogue. These 
instructions come directly from quali�  ed data and refer directly to the application for which the 
headbolts are to be used. When followed correctly, they will ensure that the appropriate clamp load 
is achieved.

PROTECTING THE HEADBOLT THROUGH UNIQUE PACKAGING 

TESTS PROVE OUR SUCCESS

WASHERS 
INCLUDED

FITTING INSTRUCTIONS 
INCLUDED

SEALED IN INDIVIDUAL 
PROTECTIVE TRAY

UNIQUE 
ANTI-COUNTERFEIT 

PROTECTION

– 
P

ro
d

u
ct

 T
e

st
 L

a
b

o
ra

to
ry

, B
u

rs
ch

e
id

 –

OE bolts

Payen bolts

Competitor 1

Competitor 2

�J��Bolt application: Rover K4
�J��Bolt dimensions: M9 x 405
�J��Free clamping length of bolt: 390 mm

�J��Bolt tightening procedure: 20Nm: +180°; +180°
�J��Measured bolt loads: Y
�J��Measured spring rates: X

 
Comparison of bolt load curves

Te
ch

n
ic

a
l i

n
ve

st
ig

a
tio

n 
re

p
o

rt
 -

 
9

9
2

U
B

0
5

-0
0

5

11-3867 CATPA1201 Headbolts CVR v4.indd   2 6/5/12   11:43 AM



III

CONTENTS

Zawarto��  III

Historia i obecno�� na rynkach �wiatowych marki Payen IV

Spis producentów V

Warunki prowadzenia biznesu VII

Najnowsze katalogi Federal-Mogul dotycz�ce  

cz��ci silnikowych i uszczelnie� VIII - IX

Jak u�ywa� tego katalogu XII

Przyczyny dlaczego warto u�ywa� �rub g�owicowych Payen  XIX

Poradnik monta�owy - krok po kroku XXVI

PEWNO�� W KA�DYCH WARUNKACH:

Dziedzictwo jako�ci i innowacji z mark� Payen ® XXXVIII - XXXIX

Certy�kat BER  XLII

Spis nowych cz��ci  XLIV

Lista zastosowa� w kolejno�ci producentów 1 – 434

Lista cz��ci w kolejno�ci numerycznej 436 – 439

Lista zamienników OE -> Payen 440 – 441

�������
��  III

Payen: ��
���	 � ����� 
�
��� 
� ������� ��
�� IV

������
• ����•����
�•�• ��
���•�•�•  V

•�•���	 ��•��� � ��
���
����
��  VII

­���•€�� ��
�•� � Federal-Mogul �•	 ��
�•�• 

��� �
�•	 � ��•�

�
�• VIII - IX

‚�� ��•••���
•�	 ��
�•� �� XIII

ƒ� ���

� �•	 ��•��� •�•
�� Payen XX

�����•
�� ��������
�� �� ��
�
���� XXVII

„……†‚‡ˆ‰­Š�‡‹ �ŠŒ Œƒ‰Ž†­ˆ†‘:

­��•���� �����
�� � �

���“�• - Payen ® XL - XLI

���
�”���
 BER  XLII

������
• 
���• ������“��  XLIV

‘���•� ��
���•�•�•, ���
������ �� ����•����
�•• 1 – 434

������
• 
������ ��
�•�•  436 – 439

‰•����•���
	����
• OE -> Payen  440 – 441

Contenido III

Historia de Payen y presencia en todo el mundo IV

Lista de constructores V

Condiciones de venta VII

Últimos catálogos de componentes de sellado y motores  

de Federal-Mogul VIII - IX

Cómo utilizar este catálogo XII

Razones para elegir los tornillos de culata de Payen XVIII

Manual de montaje paso a paso XXV

PRESTACIONES BAJO PRESIÓN:

Tradición de calidad e innovación con Payen® XXXVI - XXXVII

Homologación BER XLII

Lista de referencias nuevas XLIV

Aplicaciones por constructor  1 – 434

Lista de referencias numéricas  436 – 439

Cruce de referencias entre piezas de equipo original  

y de Payen 440 – 441

11-3867 CATPA1201 Headbolts inside v8-JB.indd   3 6/13/2012   10:12:32 AM



V

MANUFACTURERS LIST

ALFA ROMEO 1

AUDI 9

BMW 27

CHEVROLET 44

CHRYSLER 46

CITROËN 49

DACIA 72

DAEWOO 74

DAIHATSU 78

FIAT 79

FORD 105

HONDA 124

HYUNDAI 126

ISUZU 134

IVECO 136

JEEP 140

KIA 142

LANCIA 146

LAND ROVER 154

MAN 156

MAZDA 165

MERCEDES-BENZ 172

MERCEDES-BENZ COMMERCIAL 193

MG 208

MINI 210

MITSUBISHI 211

NISSAN 221

OPEL 234

PEUGEOT 257

RENAULT 278

ROVER 313

SAAB 320

SEAT 323

SKODA 338

SMART 342

SUBARU 344

SUZUKI 348

TOYOTA 350

VAUXHALL 362

VOLVO 384

VOLVO COMMERCIAL 404

VW 407

11-3867 CATPA1201 Headbolts inside v8-JB.indd   5 6/12/2012   4:02:43 PM



XIII


 �
 ����
������	 
 ��������

1  ‰
•����”�	 � ����•�

2  ‰
•����”�	 � ��� �
�•�

3  �����•
�� �����
�	 � ��� �
�•�

4  ‚�� Payen

5  ����� •�••••� � �••�• •­€‚ € 

6  †����  �•���� •�•
�

7  œ�••�

8  ž�•����

9  ‚�•����
�� •�•
�� � 
�•���

10 ���	��� •�
	���

11 ���•�����
�••
��
• •�
	���

2

3

6

7

8
9

10 11
1

5

4

11-3867 CATPA1201 Headbolts inside v8.indd   13 6/5/12   4:12 PM



XX

 ��������� ��	 ������ ������ PAYEN ��	 �����
� 
���
� „��������

�„ ����������� �������� � ������� �� ��

���� ����������� ����������� � ��
�������� 
������ PAYEN

�„  �
����� ��	�������� 	�������������, ��������������� ������
��� � ����������� PAYEN 

�„  ������ � ����� ������ ������� � ���������� �������������, ������� ��������� �������

������������� ������ �������� �� ����
���•� •�
	��� •�•
�� �� •��
� ���”����� ��
�����•����-

�•	 •�•� ���
� 
� 
� �•���—š�� 
� ��•�� 
� •�•


�
��

 � �����������
Ÿ�•
� Payen ���������—
 
� ��•��, ����
���� � 
���, �
� 
���������—
 •�•
�, ���
��•	���� 
� ������
�— ����•��-

�”�—, ��� ���
�����˜ ���•�	˜ •�
	���. Ÿ�•
� ��
����

�� 
���������—
 ��š��
��

� •�•�� 
�•��� 
� ��•��, �
� 
���•����
 
� �˜ •�•�� 
�•��� �����
��. „
� ����
 ������
� 
� �����š�
�— ����� �•��•� � 
���������

�� ��•����� 
��•�

�
�	 ����•����  �•���� ••���.

��� ������ ������
�� ������� ���� � ����
� ��������� ����
 �������

�
����� ��������� � �������� ���������� �� ���������
Š�� •�•
� Payen �•	 ¡Ÿ¢ ���
��•	—
�	 � ����•��
� � �
�
���”�	�� �� ��
�
����, � 
�� �� 
�
�
���”�� �������
� � ��
�•� �. „
� �
�
���”�� •�•� 
�����
� ���•�•�”�����

��� 
���”��•��
��� �•	 ��
���

� � �����
�
�	 •�•
��  �•���� ••��� ”�•�
����. ��••—��
�� 
�
�
���”�• �� ��
�
���� �•������
 �����••
��
• •����
�• ��•� ����•����  �•���� ••���. 

������ ����� ������� �����
��� ���������� ��������

����	, ��
�����
���
� �����������
�� ���
�������

…�†�� � 

�����
��

������
„�� 
�� �������
� � 


�����
��

���
����� � 
�������������† 

�‡����† ��
��

���
 �����	 

�‡��� �� 
�������


– 
��ˆ

�•
� 

�•
•�

 •
�  

€
• 

••
���

‚•
‰

 •
•�

Š
‹Œ

••
•,

 �‹
•Ž

�‘Š
 –

��“ ”, •�• ��“�€­”€ ‚� 
•€•�••‚‹‰ Œ�­•“€Œ �••‰

��“ ” Payen


�‚Œ‹•€‚  1


�‚Œ‹•€‚  2 

�é���••­€‚€‚•€ ˆ�“ �: Rover K4
�é����•­€•” ˆ�“ �: 16 x 405
�é�����ˆ�Š‚�� •�—•­‚�� Š“•‚� ˆ�“ �: 390 ­­

�é���•�•€Š‹•� •� �—Œ• ˆ�“ �: 20 �­: +180°; +180°
�é���•­€•€‚‚”€ ‚�˜•‹•Œ• ‚� ˆ�“ : Y
�é���•­€•€‚‚�� Š€™�•­�••� ˆ�“ �: X

 
�•��‚€‚•€ ‚�˜•‹•�•‚”š š�•�Œ €••• •Œ ‚� ˆ�“  

�€
š‚

••
€

•Œ
•‘

 � 
•€

  -
 

9
9

2
U

B
0

5
-0

0
5

11-3867 CATPA1201 Headbolts inside v8.indd   20 6/5/12   4:12 PM



XXVII

��
�������� �� �������
� 


����� ���
���
� �����
� ���
� „��������

1. ‹���
�
� �����˜
�-
�
�  �•���� � ••��� �
 
 �	•�, ���•�, �˜•��-
��—š�• ������
� 
� ��
�
��� �
��� � 
��•�

�
�	. ¡�	•• 
� 
�����˜
��
� ����
 
�
�
• �����
�• �
��-
��, �
� �������
 � ��-
˜��� �• �
��	 
���• 
����•����. ­� �•�-
��
�  ���
��  �•���� 
•�”���• �
���
�• �
�• 
� ����
�� �•� 
� 
��•,  �� 
� 
�˜ ����
 
�•��
�
•  �	••.

2. ‡�•� �•	 ���•�
�	 �
���• ����•���� ��-
��•••��
�	 ����•��, ��••—��•
� ���•�— 
��
����
��
•, �
�•� 
� �������
• ��-
���˜
��
�  �•���� � ••���. „
� ���•�

� 
���
� � �

�€�
�� �•—��
����˜ �����˜-

��
�•, ��
���� ���
� •� �� �������
•.

3. ••���
��•, �
� ��•����”�	 �����˜
��
�• 
 �•���� � ••��� 
� �����€��
 0,05 �� � 
�
� €���˜���
��
• �����˜
��
�• �
�����
 
������
��”�	� ����•����
�•	 ��� �
�•	.

4. ••���
��•, �
� ��� �
����
�	 ��� •�•
� 
���š�
� �
  �	•�, �˜•�� ��—š�• �����-
�
� � ���•�. ­� �������•
� ���•���
� � 
�����
�
�	 ���•��, ���•�

� �  •�˜�˜ �
-
����
�	˜ �•	 •�•
��. „
� ����
 ������
� 
� �
��”�
�••
��� �•�	
�— 
� ������
�� 
���•�� � ���� � ���
�������
�— ••���.

5. ­� ��•�••
�˜ ��� �
�•	˜ ������•
� ��-
��
� ���
��� ���€
	 
�� �����˜
��
•— 
••��� ”�•�
����, �
�•� �•���
•�	 � ���-
��••
�• 
�•š�
� ����•••����• ����•���� . 

��
������„�� �� 
��	�
� 
������ ��„

�é��‹���
��
� •�•
� � �
����
�	 
� ������
 
�
��
�
��	 •� �	•
�
�•, ��������
�• � 
�����••
�• �•�
�/ •�•�
�.

�é��••���
��•, �
� � �
����
�	˜ ��� •�•
� 
�
 
•� �	•
�
�•.

�é��©���
�
� 
�
	�
�� •�•
� � ���
��
�
��� 
� �
�
���”�	�� ����•����
�•	 ��� �
�•	.

�é��‰••� �•
� 
�
���
�	 ���•���
� � ��•���-
�
�� ���•��,  ����
��� �•� �•�	 
� ��•••� 
•�•
�� � � �
����
�	 ��
�•
�˜ •�•
��, �
�-
•� ���
•€�
• ����  �����•������• ���•�� 
� 
������••
� � ����

� •�
	���.

�é��••���
��•, �
� �����˜
��
� �
��� ���
�� 
� 
� •����•�
�.

�é��©�
	
�
� •�•
� � ������
����

�• ��-
�•�����
�••
��
�.

�é��������
�
� ���•���
�� 
� ��•�� 
� ��
�-
����
�������• �•—� ���•� š�•���!

�é��‡�•� 
��•˜�����, ����•••�•
� � •����.

�é��ž� �•	�
� ����•
	•
� ��•�•����� ��
�-
����
������� � �•—�� - ���•�

� ��•� � � 
��
	•�!

6. ­� 
�
���
� ����•-•�•� ����•
�
�••
�• 
 ����
�� 
� ����•����  �•���� ••��� ”�-
•�
����. „
� ����
 ������
� � �����•�-
��
�— ����•���� � ��˜��� �� �• �
��	. 
‚���� 
� �,  ����
�� ����
 •�
• �����-
•�
 � ���•	
�� ��
�•�, �
� ��•���
 •�-
������� � ��••
�•€�• ��˜�� ��� �
�•	 �• 
�
��	. ‹�
��� �� �
 •�
• 
���
���� ���
�, 
� ��
���˜ ����•����
�•• ��� �
�•	 ����
 
������
����
• ����•••���
•  ����
�� ª 

�������, � �����
�• ���€�� ��� �
�•	.

7. ����� ��
�
����•  �•���� ••��� ”�•�
-
���� �•���
��•, �
� ����•���� ��
�
��-
•�
� 
� �
�• �
���
�• ����˜, �����••
� 
�����•���
� 
� ��� �
�•� �, ��•� �����-

���, ��
�
��•�
� 
� €��••��.

8. ‹���
��
� ��� •�•
�  �•���� 
� ������
 
�
��
�
��	 ��������
�•, ������•
� �˜ 
�•�
� � ���
�
�. ‡�•� � ��� �
�•� �����-

	—
�	 
�
	�
�� •�•
� (��•�
	—š���	 
��� •�
	���), ����•••�•
� 
���� •�•
� 
�� •��
� ������
��”�	� ����•����
�•	 
��� �
�•	.

9. �•� �� ����•
� ��•••� � 
��
�� �����˜-

��
�  �•���� •�•
��. ©�
	
�
� ��� •�•-

� �
 ����; ��•� ���—
�	 •�•
� ��•
�• 
�•�
�, �•���
��•, �
� �
� ����•••�—
�	 
� �����••
�˜ 
����˜. ©�
	
�
� •�•
�  �-
•���� � ���•�����
�••
��
�, ������
��-
��

�• ����•����
�•�� ��� �
�•	. Ž•	 
�•������
�	 
��
��
� ����•••�•
� � •�-
��� 
��,  �� ›
� 
��•��
�	.

10.  ‡�•� ������
���
�	 ����•
�
• ���
��
�— 
•�
	���, •����
�
� ��� �
�•• 
� 20 ��
�
. 
(Ž�� �
�•� � �•—��
������  �•������ 
••��� ”�•�
���� ����� ���
��
�• •�
	�-
��• 
��•˜����� �˜•���
• �� ���
�

�• 

������
���).

�”• ‹• + ���˜  �•���� ���€
	 
�� �����˜-

��
•— ••��� ”�•�
����
�”• ‹• – ���˜  �•���� ���€
	 
��� �����˜-

��
� ••��� ”�•�
����
‹•� ��•���
� �•���	—
�	, �� �� ���€�
• 

�˜���
�	 � Š.“.̂ . (���˜
�• ���
��• 
����)

������

�������
�����

�������������
�
������
����	

Š��
�� ���€
	 - ›
� ����
�	
��, 
� ��
���� 
���€�
• ���
����
 
�� �����˜
��
•— ��•¬-
���  ••��� ”�•�
���� �•� �
��•�
 
��� ��-
���˜
��
� ••��� ”�•�
����

���€�
• � Š.“. .̂ 
(+ ���
��)

�•�����
• 
••���

���€�
•

œ��
� ��

�	 
 �•���� �
� 
��

		*

œ��
� ��

�	 
 �•���� 
��� �
�	

Š
� 
��

		 
 �•����-•��•�����

­��� �
�	 
 �•����-•��•�����

Š
� 
��

		 
 �•���� torx

­��� �
�	 
 �•���� torx

œ��
� ��

�	  �•���� 
� ”�•�
��������� 

•��
��

¡�•���� � €•�”���� 
� •�••�
���
(Ribe-CV®)*

*Ribe-CV® 	�•	�
�	 •��� �� 
������

�• 
�� ���• �����• Richard 
Bergner GmbH & Co.

¡�•���� ‹���
�	 �����˜
��
• 
��•���€�

œ� 

¯���
���� ‚���
•
“�•�• 
�����
�, ��

¡��•�
•

Ž•�
� ��•••�
Ž•�
�

����
�• 
�����
�, ��

• �• 
��•••�

‹�
��
�• �����
�, ��

Ž•�
� 
����	
��

11-3867 CATPA1201 Headbolts inside v8.indd   27 6/5/12   4:12 PM



XL

 ¡¢¢�
�� ��� ��� � � � � �� �� � ���:  
�� ������ 
 � ���� ��  � � ����� „�† £ P AYEN®

¡¢¢�
�������� �� ��� 
�
������
� Payen ����•����
�� Federal-Mogul   
«›••��
��
� ��� ���•�
���» � ����• 
�� -
•���
�••
�• •�•
��-����� � ����: 
� ��
 -
�� ��� �
�•�• �•	 •� ��˜ � �����������˜ 
��
���•�•�•. •
���••
�	 �����•
��
• 
Federal-Mogul ����•� �
• �

���”��

��, 
����˜
����
�� 
�˜
�•� �� ��•�

�
�• �� -
•��•�•� ���
���
• ����
�� ��•���� ��	•� 
� ����š��� �������� ����•����
�•	��.
¢�

� Federal-Mogul Sealing Systems �  
 ����� ¯�����• (¡����
�	) � ���
 ���
�— 
��•• � �•�•�����
�� 
��	� ��� ���
�•�• 
�• ���•� ����•����
�•�• ��� �
�••
�˜ 
����•��
 �—š�˜ � •����
�˜ ���
�•. „
� 
������������

�� �������	
�� �����
� -
•� ��••��
� �

���”��

�˜ ������ 
��, 
� ��
���˜ ����•••���•��• 
�˜
�•� �� 
HTA (������
������
 ��
�� ��•���), MLS 
(�
� ��•�•
�	 �
�••) � LASPOT. ������� -
	
�� � ¯�����•� �������
� ��
�š�
� �•	  
��€�
�	 ���••�� 21- � ����: ›
� �•������ -
���
 •�����
�� Federal-Mogul � �����
�� � 
���
���˜ �����•�
�	. Š •
�� ���•
�
�	 
›
�˜ � ��� �˜ ���
���
�•, �����•��•�
�� 
Federal-Mogul Sealing Systems GmbH ��� -
�
��•��• ����
��
�• 
� ���� ¨TOP 100¤ 
“�
��
���
�� ›��
����� ¡����
��.

�� 
��„��„�� 
 ����� ‡�� ��: 
¡ ¢¢�
�������� �  
 ���� † ���� ��
‹�
�• �• ����˜ ��••
�˜ �
���
 ����
�� 
Federal-Mogul �• ¯�����•� 	�•	�
�	 ��� -
�����

��
• ���
�	

��� �����€�
�
�� -
��
�— � �
���•�
�� �•���
• � ������	
• 

���� ���� – � ��� ›
�� 
� ������
• �• ���� 
��
��•
��
� ����� � �•��

�. ‰���•••�	 
�

���”��

�� ��
����•� � ��
�
���”�� � 
����
�
�� � 
���•€��� ����•����
��

�-
�� ���”������, Federal-Mogul � ����� Payen 
�•��������—
 ����� � ����˜ �•��
�˜ �••� -
�
	˜ � ��€�—
 •—•�� •�•
��-•�����.
�̂��� ���
��� �•�����
�� ���
”����  

�����
�� � �

���”�• ���	�•	�
�	 � ��� -
��� ������ 
� Payen. Š �����
�� ������� 
���
� ������
� ����•��� �  �•���� ••���  
”�•�
���� LASPOT, ��•��•�
�

�— �
�� -

����� Federal-Mogul �� •������� ��
�� -
•�
�•�•. �̂�•���•��• ��•��
• ��
�
���”�—, 
� ��
���• ����•���� ����•
	�
 ��
��
�— 

� ‚‚���••• – Š�•—‹¤•‘ ™�Œ �• ‹••€Ž‚�˜� •�•�• •� �� �­�ˆ•“¥‚�‘  
••�­”Ž“€‚‚�• •.  ‘—•�• �����
�

 ��� �
�•	 �������

� � •� ���� �  
��
���•�•	 �•� ��š
� � ����������� � 
��
����

� � �����
�� 	�•	�
�	 
��•�••
�
�� 
�������
�˜ ������� ��
�
���
���� � �����€�
�
����
�	 ��� -
�•����
��. �̂� 
� ��
��, 
��
� �� ������
� �•��
�•��• �
�•• �����
�••
� 
� �
�•• �

���”��

�, ��� ��•�

�
�••
�� ›•���

�.

‚� �� ���• •�˜���
 �• �

���”��

�� ��•�•
� ����•����, ��
���� •� �� 
��
��•	—
 ���˜ ��
����

�� ��•��� ��� 
� ��
�� ��� �
�••
� � �•������� -

�	, 
�� � 
� ��
�� •�����
�•, ����� Payen �������”�� Federal-Mogul •��•� -
��

� •�
����
 ����š�� ���
�.

Federal-Mogul – ¦ � �€Š‹¤•‘ ­••���‘ ••�••��Š• €“¥ ••�Œ“�Š�Œ Š“� ˜�“���Œ 
ˆ“�Œ� ••“•‚Š•�� • ‹•“� ‚• €“¥‚”š ¦“€­€‚ �� , •�• ��“�€­”š ‚� •€•�••‚‹‰ 
Œ�­•“€Œ �••‰.  ‘�����
�� 
� ��
�� ���
���� 
� ������
�— ����•��
�”�— 
�•
����
, �
� �����	 ����•���� ����� Payen �����
��•	�
 ��•�• ��•�••
�
 

���•€�˜ �

���”��

�˜ ��
�
���
�����˜ ��•��•�
�� ����
�
� ������ � 
�•���� � �
���
�••
� � �•���
�	 ��
��•
��
�• �������

�˜ ��� �
�•�• � 
����•����
��

�˜ ���”�����, �
�  ���

����
 
�����•�•��

�� �����
�� � 
›••��
��
��
•.

ƒ����
���

 ������”�� Payen ��•��•�
����
�	 � ��
���˜ ��� ��
����
�˜ 

���
�˜ ”�

��˜, ��
�š�

�˜ 
���•€��� 
�˜
�•� �	�� � ���
����� - ›
� 
��•��•	�
 �•������
• ��˜��
�
�� � �����•�
�� •�����—š�˜ ��•�”�• 
� 
��
�� •� ���
 ����•���
�	 ������˜��
�˜ ��€�
�• � �•��� ��•�

�
�•. 

200 ���
�˜ � �
��
���� ��•�
�—
 
�� ������ ›•���

�� �����
�

�� ��•�
 -

�
�•�• – �
 ��”��
��� ��
����•� �� ��
�
���
��
� � ����•
�
�	, 
���� 
����•••�—
�	  26 ����
�
�••
�˜ �
�
��� - �•	 •� ��˜ ��
���•�••
�˜ � ��š -

�˜ �����������˜ ��� �
�•�•. Š�� ›
� ��•��•	�
 �������”�� Federal-Mogul �  
����� Payen �•��������
• ����••
�� ��€�
�� �•	 •—•�• �•��
�• •����� � 
����•••���
��� ��•�

�
�•.

11-3867 CATPA1201 Headbolts inside v8.indd   40 6/5/12   4:12 PM



XLI

 ¡¢¢�
�� ��� ��� � � � � �� �� � ���:  
�� ������ 
 � ���� ��  � � ����� „�† £ P AYEN®

��•�

�
�••
�— •�
�”�— � �••��
	˜ ��� -
��
�
�	 � ����€�

�� ���•�
��� � ��� -

�	. Š ��� ��• ����•���� LASPOT ����•• -
•��
�	 
���•€�	 
�˜
�•� �	, �•��������	 
��
��•
��
� ����˜ 
��•���
�••
�˜ �� -
•�••
�˜ ��� �
�•�•. ‚ ��� �� �
•���
�•• -

�� ���
�� ›
�˜ ����•���� ���
� �

��
� 
•�
�”��
�••
�� �•��, �• �
��•������� 
�• ��� ��

�• 
������—š�• �
�•� � �� -
�•��•��•
��� �����•��
	�� ��•
� � 
��•����, �����•���

��� � ���
��
�
��� 
� «•����
�•» ��
”��”��•. �̂��• ���˜�� 
�•���������
 
����
�� ��•�

�
�� ���•• 
•�
�•
�• •�
�  ����
�•�”��. ²
�•� �•� -
�����
• ���•—��
�••
�� �������•�

� -

��, ��� �•�� �����
� �����������
��
 -

��, �
�•�••
�� •
��›•��
������.

��� 
�� �
� MLS § MU LTI£ LAYER 
STEEL £ ����� ���† ��	 ��� ��¨
‚����
�	 Federal-Mogul 	�•	�
�	 
����� -
����� •������ � �•��� 
�˜
�•� �• �• � -

��•�
�	 ����•���� ¡Ÿ¢ �• �
� ��•�•
�• 
�
�•� ��� ���
� 20 •�
. ‚����
�	 ���� -
�
�•� 
� �������	
�� � ¯�����•� •�•�� 
43 ��••��
�� ����•���� MLS �•	  �•���� 
••���� ”�•�
����, ��� ›
�� •���� 	�•	�
�	  

�� �� ����š�� ���
��š���� �•	 ��
��  
•����
�˜ ���
�•. 
�̂��• ����˜ � �� ��

� ��� �
�••
�˜ 

����•��
�—š�˜ �•��•��•�
, � ���

��
�, 
•�••€�� ���
�� Federal-Mogul � �� �
�•� -
”�� 
�˜
�•� ������ � ���”���� � 
�•���-
�����
•— � �••��
� 
�˜
�•� �• ������
�� 
� �
�
����

��. ‰
��
��� Federal-Mogul 

�˜��	
 � �����
	—
 
��•��€�� ���� � 

�˜
�•� ��, �
�•� ��•����
• ��
���••
�� 
������
� �•	 ����� � ��� �
�•	 - •��• 
� 
���”�•��

�	 ��•��•�
�� � ����•����
�� 
�
�
����

�� �•	 �����•�
�� ��••�•�, 
����•
�
�� ����˜ ���
��˜ 
��•���
�• � 
�����
�— ����•���� �•� ��•��•�
�� ���� -
��›••��
��
� � ������
� � �•�������
�	.

��� 
�� �
� �
 ��� �� � ¡�� ��� ����
Ž•	  ����
�•�”�� ��•�••
�˜ ��� �
�•�•, 
����
�•
���

�˜ �•	 
	��•�˜ ��•���• 
›���•��
�”��, ���
� 
��•��
�	 ��••��
�• 
���˜�� � ��
�
�������
��. Ž��•�
�� ��� 
� ���
�� •�••€�, ��� � ��� �
�•	˜ •� �� -
��˜ ��
���•�•�•, � �����
�	 �

���
�••
� 
��• �����
�• ›���•��
�”�� 
��
� � ��€�.
����••���—š�� ��
����•�� 
� ›
�� ��  -
��

� ��
�� 	�•	�
�	 �
�•• � ›•��
������. 
²��
� ����•���� ���
�	
 �• �
�••
�• �•� -
�
�
� � •��
���� �����  �
����
�	 ”�•�
 -
��� �•	  ����
�•�”�� ����•	—š�˜�	 ��� 
 ���
��  �•��,  ����
�•�”�	 ������
�• 
���
� ��
�	 •� ���
 �����
�
�	 ›•��
� -
���
�˜ ����•����, �•��
� ���������

�˜ 
� �
�••
�— �•��
�
�. �̂��	 ��
�
���”�	 
�•���������
 ������� �
�•�••
��
• �  
›••��
��
��
• ���
���  ����
�•�”��, � 

�� �� ��•���•��
��  ����
�•���—š�� 
���•�
�� ��� ������˜ 
������
���˜.
‚�� � � �•���� � ��� �
�•	�� ��
•€� � ��• -
����, 
�••—���
�	 
�
��
”�	 �� �
���
�— 
���� ��� �
�•	 � ��
������

�� �����
� -

��� � � ��
�
���”��, � •�••€�	 ���••
�	 
��š
��
• ��� �
�•	 
��•��
 ��••
�•€�˜ 
������€�
�
����
�• ��
�
���”�� ��� -
�•����. ����� �������

�� ��
�
���”�� � 
����•••���
��� �
�•� � ›•��
����� �� �
 
��•—��
• � ��•	 ������›••��
��
�� ›•� -
�
����� � ���
�����  ����
�•�”�� ”�•�
 -
���, � ��
���˜ �•	  ����
�•�”�� ���•�
�• 
���€� 250 •��, ��•�������˜ ���  ���
��, 
�� �
 �����
	
•�	 
��� ��•������� ›•� -
��

� � 
�˜
�•� �	 MLS.

���������� ��������� ���
���
� 
HTA©  §HIGH TEMPERATURE ALLOY £  
� ���
� ������� ���� �† �����¨
��
��•
�� 
• � ����€�
�� ��š
�� 
�  

�•�••€�˜ ��� �
�•�• �����•� � ���•� -
��
�— 
������
 ��� �
��•�
�

�˜  �•��, 
�
� ����
 �
��”�
�••
� ���•�
•�	 
� 
����•����˜ ���
��� �������. ²
�•� �� -
���• ����•����
�•	� ��� �
�•�• ��€�
• 
›
 � ���••���, �������”�	 Federal-Mogul  
��•��•�
�•� ����— 
���˜ ��
����•�� � 
��
�
���”�• ����•���� �•	 ¡Ÿ¢. ‹�
� �• 

���˜ ��€�
�• – ����•���� HTA (������ -

������
 ��
�• ��•��) – 
� ���	��� �•�� -
€��
 ��•�

�
�� �
��•�
��€�˜  �•��.
„
� 
���	 
�˜
�•� �	, ����
��

�	 ��� -
�
��
�• 
� ���� Automotive News PACE 
Award for Innovation 2007, ���•—��
�••
�  
��
�•���� � 
��•���• ��•����”�� � 
�����•
� ���������
• 
������
 ��� �� 
1000ºC. ‰

���”��

� � ������� ����� -
��”�	 Federal-Mogul ��•�•��• ���•—�� -

�••
� •� ���
 � ���
� � ���
� � ��
���� -
•�����
��, ���•�

� � �••��
� ��
�••��, 
�����
�• � ˜���� �����˜
��
�•. 
‚•��

� Federal-Mogul 
� �
����
�� ��
 -
�� ��� ��•���—
 � ���
�� ������š��
�� 
�
 
�˜
�•� �� HTA •� ���
 �� �
����
�	 � 
����•����
�� ��
�•�• ��� �����• Payen.

��� 
�� �
� LEM ®  
§LIQUID ELASTOMER MOULDING £ 
����� �
 � ��
��� ¡�� ��� ����¨
����•���� LEM ����•����
�� Federal-Mogul  
�������
� •�������
����•� ��•	 ��� �� -
€�
�� �•��
�˜ •���� ��•�

�
�	, ��
�— -
š�˜ ����� ����•����
�•	�� ����•��

� � 
�•�������
�	, � ���

��
�, �� ••�
”���˜ 
�����
�
�	˜, 
��•�—š�˜ •
���
�••
�• 
 �•���
�. � ����

� ��	�•�
�	 � 1998 �•	 
��
��� ��� �
�••
� � �•�������
�	 �  
���•�������
� � �•�•�����
�	 •�•� �� -
��š�
� •�•�� 40 ��••��
�� ����•���� 
LEM. ����•���� LEM €����� �����
��•� -

� � �����
���

� ������”�� Payen.
„
� 
�˜
�•� �	 �������
� ���˜���
 �•	 
��
�� •����
�˜ ���
�•. ž�••�•
�� ��•�
 -

�
�••
�� ��•��� 
� ����•����˜ LEM 
����� Payen �����
����—
 ��•����”�— 
••�
”�� 
� 30% •�••€�—, ��� ������”�	 
��
����

��. „
� ���•�

� ���
�, �����•• -
�� �����
����š��� ��� �
�•�• �����
	—
 
�••� ��

�� ••�
”� � �
���

�� 
� ��• -
�� 
� •�•
�. ̂ �˜
�•� �	 LEM ��� ���
�	 � � 
•��
��€
�˜ 
��•��
�˜ ›•���

�˜ – � ��
 -

�� ��€�
�	 � �••��
� ��•�

�
�• ��•��
 
� �����
���

 ������”�� Payen �� ���� 
��•��
�	 ›
� � �
� ��•�š�—š� � ��
��.

PAYEN ¡ ¢¢�
�� ��� ���  ��� � �� �� � ���
•�•�

�
�••
�� ›•���

� 
��� �� ��
�� 

� •�•� �
�•• ���
� �•	 ����€�
�	 �• -
š�• ��š
��
� � 
����
��
� ��
���•�•• -

�˜ ��� �
�•�•. •��•���
�� ���•�
�	 � 

������
 ��� � ”�•�
���˜, � 
�� �� �
��� -

�� ����� ��� �
�•	 ������
�•� ��� �� -
�
�� ��•�

�
�	 � ��
� �• ����˜ �•��
�˜ 
� 
��•���
�••
�˜ �••��
�• ����� 
����� -

�	 ��� �
�•	. ­�����•�•��

�• ���
 
� 
��
��˜ ��� ��� �
�••
�˜ ����•��
 �—š�˜, 

�� � •����
�˜ ���
�•, ��•��•	�
 �•�� -
•�	� ��� �����• Payen ����
�
������
• 
„††‡‚ˆ‰Š­‹�ˆŒ �‹Ž ŽƒŠ‘‡­‰‡“ ���� -

������ � •—•�� ��•�

�
�� ��
���•�•• -

� � ��� �
�•	. Ž�� ��� �•�����, ����� 
Payen �������”�� Federal-Mogul – ›
� 
� -
��• �
�
���
 � 
�˜
�•� �	˜ ��•�

�
�	.

11-3867 CATPA1201 Headbolts inside v8.indd   41 6/5/12   4:12 PM



Federal-Mogul
ADVANCED ANTI�COUNTERFEIT PROGRAMME

PERMANENT
SELF�ADHESIVE LABEL
Seals the box with label detail 
on the front

LOOK FOR THE HOLOSPOT®

The Holospot® label features a 
4-digit alphanumeric code. 
Please check it to make sure that:
�é�� �7�K�H�������G�L�J�L�W���F�R�G�H���D�S�S�H�D�U�V���L�Q���U�D�L�Q�E�R�Z��

colours using the light of the magni-
�  er and is different on each pack

�é�� �7�K�H���)�H�G�H�U�D�O���0�R�J�X�O���O�R�J�R���D�O�V�R��
appears in the Holospot®. The last 
4 digits of the alphanumeric code 
have to be the same as the ones in 
the Holospot®

CHECK THE UNIQUE CODE ONLINE AT WWW.FMECAT.EU
�(�D�F�K���)�H�G�H�U�D�O���0�R�J�X�O���S�D�U�W���K�D�V���D���X�Q�L�T�X�H���F�R�G�H���Z�K�L�F�K���L�V���G�L�V�S�O�D�\�H�G���R�Q��
�W�K�H���O�D�E�H�O�V���L�Q���D�Q���D�O�S�K�D�Q�X�P�H�U�L�F���D�Q�G���'�D�W�D���0�D�W�U�L�[���I�R�U�P�D�W����
�$���'�D�W�D���0�D�W�U�L�[���F�R�G�H���L�V���D�������G�L�P�H�Q�V�L�R�Q�D�O���������'�����P�D�W�U�L�[���E�D�U�F�R�G�H����
�7�K�H���8�Q�L�T�X�H���&�R�G�H���F�D�Q���E�H���Y�H�U�L�����H�G���L�Q�������G�L�I�I�H�U�H�Q�W���Z�D�\�V����
�é�� �7�\�S�L�Q�J���L�Q���W�K�H���8�Q�L�T�X�H���&�R�G�H
�é�� �5�H�D�G�L�Q�J���W�K�H�������'���F�R�G�H���Z�L�W�K���D�������'���V�F�D�Q�Q�H�U
�é�� �8�V�L�Q�J���D���P�R�E�L�O�H���S�K�R�Q�H�����1�R�N�L�D���1�V�H�U�L�H�V�����(�V�H�U�L�H�V��
�)�R�U���I�X�U�W�K�H�U���G�H�W�D�L�O�V���S�O�H�D�V�H���F�K�H�F�N���Z�Z�Z���I�P�H�F�D�W���H�X

PROTECTION
�6�S�H�F�L�D�O���O�D�E�H�O���G�H�V�L�J�Q���P�H�D�Q�V���D�Q�\��
attempt to remove or swap the 
label will result in tearing

The following features on all new GASKETS and HEADBOLTS packaging 
�S�U�R�Y�H���W�K�D�W���W�K�H���S�D�U�W�V���L�Q�V�L�G�H���D�U�H���2�U�L�J�L�Q�D�O���4�X�D�O�L�W�\��

1

2

3

4

Go to www.fmecat.eu for verification

Federal-Mogul Global Aftermarket EMEA bvba
�.�R�Q�W�L�F�K�V�H�V�W�H�H�Q�Z�H�J�������������é���%�������������$�D�U�W�V�H�O�D�D�U���é���%�H�O�J�L�X�P
�7�H�O�������������������������������������������é���)�D�[����������������������������������������

11-3867 CATPA1201 Headbolts anti counterfeit.indd   1 6/5/12   11:46 AM



XLIV

NEW PARTS LIST�/�L�V�W�H���G�H�U���1�H�X�D�X�I�Q�D�K�P�H�Q���é���/�L�V�W�H���G�H�V���Q�R�X�Y�H�O�O�H�V���U�«�I�«�U�H�Q�F�H�V���é���(�O�H�Q�F�R���F�R�G�L�F�L���Q�X�R�Y�L
�/�L�V�W�D���G�H���Q�X�H�Y�D�V���U�H�I�H�U�H�Q�F�L�D�V���é���/�L�V�W�D���Q�R�Z�\�F�K���F�]�Ù�
�F�L���é���Ÿ�½�¶�¿�¼�¸���»�¼�°�¼�·���½�¾�¼�²�Á�¸�Ä�¶�¶

�	 �	 �	 �	
AUDI
HBS510 18 

20
HBS512 19 

22 
23

HBS514 15 
22 
23 
24 
26

BMW
HBS507 34 

42

CHRYSLER
HBS496 46 

47
HBS503 48

CITROËN
HBS489 55

FIAT
HBS497 97

MAZDA
HBS494 167 

170

MERCEDES-BENZ
HBS511 178 

179 
180 
183 
185 
186 
187 
188

MINI
HBS496 210

MITSUBISHI
HBS491 218 

220

NISSAN
HBS492 227
HBS495 222 

223 
232

HBS504 223 
 224 
230 
231 
233

HBS505 223 
230

HBS506 224 
226

OPEL
HBS502 250 

254

PEUGEOT
HBS508 260

RENAULT
HBS502 289 

312

SAAB
HBS502 321

TOYOTA
HBS490 351 

354 
358 
361

HBS500 358
HBS501 356 

357 
358

HBS508 352 
358 
359 
361

VW
HBS499 420
HBS509 421 

422 
432 
433

HBS510 424
HBS513 412 

418 
422 
425



1

160 D100 Diesel 1929 4 82.60 47
182 B9.000 Diesel 1910 4 82.00 17
192 A5.000 Diesel 1910 4 82.00 18
192 A5.000 Diesel 1910 4 82.00 31
192 B1.000 Diesel 1910 4 82.00 31
199 A8.000 Petrol 1368 4 72.00 57
839 A6.000 Diesel 2387 5 82.00 33
839 A6.000 Diesel 2387 5 82.00 45
841 C.000 Diesel 2387 5 82.00 33
841 C.000 Diesel 2387 5 82.00 45
841 G.000 Diesel 2387 5 82.00 34
841 G.000 Diesel 2387 5 82.00 46
841 H.000 Diesel 2387 5 82.00 46
932 A2.000 Petrol 1970 4 83.00 54
937 A1.000 Petrol 1970 4 83.00 19
937 A1.000 Petrol 1970 4 83.00 32
937 A1.000 Petrol 1970 4 83.00 54
937 A1.000 Petrol 1970 4 83.00 56
937 A1.000 Petrol 1970 4 83.00 59
937 A2.000 Diesel 1910 4 82.00 17
937 A2.000 Diesel 1910 4 82.00 30
937 A4.000 Diesel 1910 4 82.00 31
937 A5.000 Diesel 1910 4 82.00 18
937 A5.000 Diesel 1910 4 82.00 31
937 A5.000 Diesel 1910 4 82.00 53
937 A8.000 Diesel 1910 4 82.00 35
937 A8.000 Diesel 1910 4 82.00 36
937A7.000 Diesel 1910 4 82.00 36
939 A1.000 Diesel 1910 4 82.00 38
939 A2.000 Diesel 1910 4 82.00 35
939 A2.000 Diesel 1910 4 82.00 37
939 A3.000 Diesel 2387 5 82.00 41
939 A5.000 Petrol 2198 4 86.00 40
939 A6.000 Petrol 1859 4 86.00 39
939 A7.000 Diesel 1910 4 82.00 36
939 A8.000 Diesel 1910 4 82.00 36
8140.21.200 D.I. Diesel 2445 4 93.00 50
8144.21.220 Diesel 2445 4 93.00 48
8144.67.220 Diesel 2500 4 93.00 49
8144.67.220 Diesel 2500 4 93.00 51
AR 06476 Petrol 1995 4 84.00 42
AR 16201 Petrol 1970 4 83.00 56
AR 16201 Petrol 1970 4 83.00 59
AR 32102 Petrol 1598 4 82.00 27
AR 32103 Petrol 1598 4 82.00 28
AR 32104 Petrol 1598 4 82.00 16
AR 32104 Petrol 1598 4 82.00 28
AR 32201 Petrol 1747 4 82.00 6
AR 32201 Petrol 1747 4 82.00 12
AR 32201 Petrol 1747 4 82.00 29
AR 32201 Petrol 1747 4 82.00 55
AR 32201 Petrol 1747 4 82.00 58
AR 32205 Petrol 1747 4 82.00 29
AR 32205 Petrol 1747 4 82.00 52
AR 32301 Petrol 1970 4 83.00 9
AR 32301 Petrol 1970 4 83.00 15
AR 32301 Petrol 1970 4 83.00 32
AR 32301 Petrol 1970 4 83.00 56
AR 32301 Petrol 1970 4 83.00 59
AR 32302 Diesel 1910 4 82.00 7
AR 32302 Diesel 1910 4 82.00 13
AR 32302 Diesel 1910 4 82.00 30
AR 32310 Petrol 1970 4 83.00 19
AR 32310 Petrol 1970 4 83.00 32
AR 32310 Petrol 1970 4 83.00 56
AR 32310 Petrol 1970 4 83.00 59
AR 32501 Diesel 2387 5 82.00 33
AR 33503 Petrol 1371 4 82.00 4
AR 33503 Petrol 1371 4 82.00 10
AR 33601 Diesel 1929 4 82.60 8
AR 33601 Diesel 1929 4 82.60 14
AR 34103 Petrol 1970 4 83.00 44
AR 34202 Diesel 2387 5 82.00 45

AR 36301 Petrol 1970 4 83.00 44
AR 37101 Diesel 1910 4 82.00 30
AR 37203 Petrol 1598 4 82.00 16
AR 38201 Petrol 1598 4 82.00 5
AR 38201 Petrol 1598 4 82.00 11
AR 38401 Petrol 1747 4 82.00 6
AR 38401 Petrol 1747 4 82.00 12
AR 38501 Petrol 1371 4 82.00 4
AR 38501 Petrol 1371 4 82.00 10
AR 67106 Petrol 1747 4 82.00 6
AR 67106 Petrol 1747 4 82.00 12
AR 67106 Petrol 1747 4 82.00 21
AR 67201 Petrol 1995 4 84.00 25
AR 67202 Petrol 1970 4 83.00 24
AR 67203 Petrol 1995 4 84.00 23
AR 67204 Petrol 1970 4 83.00 9
AR 67204 Petrol 1970 4 83.00 15
AR 67204 Petrol 1970 4 83.00 24
AR 67501 Diesel 1929 4 82.60 8
AR 67501 Diesel 1929 4 82.60 14
AR 67501 Diesel 1929 4 82.60 22
AR 67601 Petrol 1598 4 82.00 5
AR 67601 Petrol 1598 4 82.00 11
AR 67601 Petrol 1598 4 82.00 20
AR 67601 Petrol 1598 4 82.00 27
VM 07 B Diesel 2500 4 92.00 26
VM 08 B Diesel 2500 4 92.00 43
VM 31 B Diesel 2500 4 92.00 26
VM 32 B Diesel 2500 4 92.00 43
VM 80 A Diesel 1995 4 88.00 2
VM 81 A Diesel 2393 4 92.00 3
VM 82 A Diesel 1779 3 92.00 1
VM 84 A Diesel 2500 4 92.00 43
VM 96 A Diesel 1779 3 92.00 1

Engine Index �é Moterverzeichnis �é Index de moteur �é Indice motore �é Indice per motor �é��Indeks silnika �é�������� ���������

9 9cc cc

ALFA ROMEO



2

ALFA ROMEO

33 1.8L TD Diesel 01/86� 09/94 1 HBS107  A 
VM 82 A/VM 96 A �G 1779 �G 3 �G 92.00 �G�� �G 53/72   1) 30Nm 
 �G  �G  �G  �G�� �G    2) 70° 
 �G  �G  �G  �G�� �G    3) 70° 
 �G  �G  �G  �G�� �G  M14x2x137mm (x8)  4) �Ã 
 �G  �G  �G  �G�� �G  M12x1.75x80mm (x3)  5) �7 
 �G  �G  �G  �G�� �G  M12x1.75x116mm (x3)  6) 90° 
 �G  �G  �G  �G�� �G    7) 30Nm 
 �G  �G  �G  �G�� �G    8) 65° 
 �G  �G  �G  �G�� �G    B 
 �G  �G  �G  �G�� �G    1) 30Nm 
 �G  �G  �G  �G���� �G    2) 85° 
75 2.0L TD Diesel 05/85� 09/92 2 HBS105  A 
VM 80 A �G 1995 �G 4 �G 88.00 �G��SOHC �G 60/73/   1) 30Nm 
  �G  �G  �G  �G�� �G 82/99   2) 70° 
  �G  �G  �G  �G�� �G    3) 70° 
  �G  �G  �G  �G�� �G  M14x2x137mm (x10)  4) �Ã 
  �G  �G  �G  �G�� �G  M12x1.75x80mm (x4)  5) �7 
  �G  �G  �G  �G�� �G  M12x1.75x116mm (x4)  6) 90° 
  �G  �G  �G  �G�� �G    7) 30Nm 
  �G  �G  �G  �G�� �G    8) 65° 
  �G  �G  �G  �G�� �G    B 
  �G  �G  �G  �G�� �G    1) 30Nm 
 �G  �G  �G  �G���� �G    2) 85° 
75 2.4L TD Diesel 01/89� 02/92 3 HBS105  A 
VM 81 A �G 2393 �G 4 �G 92.00 �G�� �G 81/110   1) 30Nm 
 �G  �G  �G  �G�� �G    2) 70° 
 �G  �G  �G  �G�� �G    3) 70° 
 �G  �G  �G  �G�� �G  M14x2x137mm (x10)  4) �Ã 
 �G  �G  �G  �G�� �G  M12x1.75x80mm (x4)  5) �7 
 �G  �G  �G  �G�� �G  M12x1.75x116mm (x4)  6) 90° 
 �G  �G  �G  �G�� �G    7) 30Nm 
 �G  �G  �G  �G�� �G    8) 65° 
 �G  �G  �G  �G�� �G    B 
 �G  �G  �G  �G�� �G    1) 30Nm 
 �G  �G  �G  �G���� �G    2) 85° 
145 1.4L i.e. 16V T.S.  12/96� 01/01 4 HBS262  1) 20Nm 

7

8

3

4

2

1

6

5

10

9AR 33503/AR 38501 �G 1371 �G 4 �G 82.00 �G��DOHC �G 76/103   2) 40Nm 
  �G  �G  �G  �G�� �G    3) �« 90° 
  �G  �G  �G  �G�� �G    4) 40Nm 
  �G  �G  �G  �G�� �G  M10x1.25x220mm (x10)  5) 90° 
  �G  �G  �G  �G�� �G    6) 90° 
 �G  �G  �G  �G���� �G    7) 90° 
145 1.6L i.e. 16V T.S.  12/96� 01/01 5 HBS132  1) 20Nm 
AR 38201/AR 67601 �G 1598 �G 4 �G 82.00 �G��DOHC �G 88/120   2) 40Nm 
 �G  �G  �G  �G�� �G    3) 90° 
 �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x254mm (x10)  5) 90° 
145 1.8L i.e. 16V  03/98� 01/01 6 HBS132  1) 20Nm 
145 1.8L i.e. 16V T.S.  12/96� 12/98    2) 40Nm 
AR 38401/AR 67106 �G 1747 �G 4 �G 82.00 �G��DOHC �G 103/140   3) 90° 
AR 32201 �G 1747 �G 4 �G 82.00 �G��Motronic, DOHC �G 106/144   4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x254mm (x10)  5) 90° 
145 1.9L JTD Diesel 02/99� 01/01 7 HBS227  1) 65Nm 

7

10

5

4

1

2

3

6

9

8AR 32302 �G 1910 �G 4 �G 82.00 �G��SOHC �G 77/105   2) 90° 
 �G  �G  �G  �G�� �G    3) 90° 
 �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M12x1.25x218mm (x10)   
145 1.9L TD Diesel 10/94� 02/99 8 HBS095  1) 30Nm 
AR 33601/AR 67501 �G 1929 �G 4 �G 82.60 �G��SOHC �G 66/68/   2) 50Nm 
  �G  �G  �G  �G�� �G 90/92   3) 100Nm 
  �G  �G  �G  �G�� �G    4) �«90° 
 �G  �G  �G  �G���� �G  M12x1.25x133mm (x10)  5) 100Nm
 �G  �G�� �� �G�� �� �G���� �G�� �� �� 6) 90°
 �G  �G  �G  �G  �G   7) 90°

cc kW/PS!ø



3

ALFA ROMEO

145 2.0L 16V Quadrifoglio  03/98� 01/01 9 HBS132  1) 20Nm 
145 2.0L 16V T.S.  10/95� 01/01    2) 40Nm 
AR 67204 �G 1970 �G 4 �G 83.00 �G��DOHC �G 110/150   3) 90° 
AR 32301 �G 1970 �G 4 �G 83.00 �G��Motronic, DOHC �G 110-121/   4) 90° 
 �G  �G  �G  �G���� �G 150-165 M10x1.25x254mm (x10)  5) 90° 
146 1.4L i.e. 16V T.S.  11/96� 01/01 10 HBS262  1) 20Nm 

7

8

3

4

2

1

6

5

10

9AR 33503/AR 38501 �G 1371 �G 4 �G 82.00 �G��DOHC �G 76/103   2) 40Nm 
  �G  �G  �G  �G�� �G    3) �« 90° 
  �G  �G  �G  �G�� �G    4) 40Nm 
  �G  �G  �G  �G�� �G  M10x1.25x220mm (x10)  5) 90° 
  �G  �G  �G  �G�� �G    6) 90° 
 �G  �G  �G  �G���� �G    7) 90° 
146 1.6L i.e. 16V T.S.  11/96� 01/01 11 HBS132  1) 20Nm 
AR 38201/AR 67601 �G 1598 �G 4 �G 82.00 �G��DOHC �G 88/120   2) 40Nm 
 �G  �G  �G  �G�� �G    3) 90° 
 �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x254mm (x10)  5) 90° 
146 1.8L i.e. 16V T.S.  11/96� 01/01 12 HBS132  1) 20Nm 
AR 38401/AR 67106 �G 1747 �G 4 �G 82.00 �G��DOHC �G 103/140   2) 40Nm 
AR 32201 �G 1747 �G 4 �G 82.00 �G��Motronic, DOHC �G 106/144   3) 90° 
  �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x254mm (x10)  5) 90° 
146 1.9L JTD Diesel 02/99� 01/01 13 HBS227  1) 65Nm 

7

10

5

4

1

2

3

6

9

8AR 32302 �G 1910 �G 4 �G 82.00 �G��SOHC �G 77/105   2) 90° 
 �G  �G  �G  �G�� �G    3) 90° 
 �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M12x1.25x218mm (x10)   
146 1.9L TD Diesel 12/94� 02/99 14 HBS095  1) 30Nm 
AR 33601/AR 67501 �G 1929 �G 4 �G 82.60 �G��SOHC �G 66/68/   2) 50Nm 
  �G  �G  �G  �G�� �G 90/92   3) 100Nm 
  �G  �G  �G  �G�� �G    4) �«90° 
 �G  �G  �G  �G���� �G  M12x1.25x133mm (x10)  5) 100Nm
 �G  �G  �G  �G  �G   6) 90°
 �G  �G  �G  �G  �G   7) 90° 
146 2.0L 16V Quadrifoglio  03/98� 01/01 15 HBS132  1) 20Nm 
146 2.0L 16V T.S.  10/95� 01/01    2) 40Nm 
AR 67204 �G 1970 �G 4 �G 83.00 �G��DOHC �G 110/150   3) 90° 
AR 32301 �G 1970 �G 4 �G 83.00 �G��Motronic, DOHC �G 110-121/   4) 90° 
 �G  �G  �G  �G���� �G 150-165 M10x1.25x254mm (x10)  5) 90° 
147 1.6L 16V T.SPARK  01/01� 16 HBS262  1) 20Nm 

7

8

3

4

2

1

6

5

10

9147 1.6L 16V T.SPARK ECO  01/01�    2) 40Nm 
AR 37203 �G 1598 �G 4 �G 82.00 �G�� �G 76/103   3) 90° 
AR 32104 �G 1598 �G 4 �G 82.00 �G��DOHC �G 88/120   4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x220mm (x10)  5) 90° 
147 1.9L JTD Diesel 04/01� 17 HBS227  1) 65Nm 

7

10

5

4

1

2

3

6

9

8182 B9.000 �G 1910 �G 4 �G 82.00 �G��SOHC �G 74-77/   2) 90° 
 �G  �G  �G  �G�� �G 101-105   3) 90° 
937 A2.000 �G 1910 �G 4 �G 82.00 �G��SOHC �G 85/116   4) 90° 
 �G  �G  �G  �G���� �G  M12x1.25x218mm (x10)   
147 1.9L JTD 16V Diesel 11/02� 18 HBS370  1) 65Nm 

7

10

5

4

1

2

3

6

9

8147 1.9L JTDM 16V Diesel 07/05�    2) 90° 
192 A5.000 �G 1910 �G 4 �G 82.00 �G��DOHC �G 103/140   3) 90° 
937 A5.000 �G 1910 �G 4 �G 82.00 �G��DOHC �G 110/150   4) 90° 
 �G  �G  �G  �G���� �G  M12x1.25x225mm (x10)   
147 2.0L  07/02� 05/05 19 HBS132  1) 20Nm 
147 2.0L 16V T.SPARK  01/01�    2) 40Nm 
AR 32310 �G 1970 �G 4 �G 83.00 �G��DOHC �G 110/150   3) 90° 
937 A1.000 �G 1970 �G 4 �G 83.00 �G��DOHC �G 119-122/   4) 90° 
 �G  �G  �G  �G���� �G 162-166 M10x1.25x254mm (x10)  5) 90° 
155 16V T.S.  05/96� 01/98 20 HBS132  1) 20Nm 
AR 67601 �G 1598 �G 4 �G 82.00 �G��DOHC �G 88/120   2) 40Nm 
  �G  �G  �G  �G�� �G    3) 90° 
  �G  �G  �G  �G�� �G    4) 90° 
 �G  �G  �G  �G���� �G  M10x1.25x254mm (x10)  5) 90° 

cc kW/PS!ø




































































































































































































































































































































































































































































































































































































































































































































































































































































































	CATPA1201.pdf
	11-3867 CATPA1201 Headbolts CVR v4_lR.pdf
	CATPA1201 Headbolts inside_LR

	backcover_lR



